
9. Place the lid’s dome hinge in one of 
the frame’s grooves and push the
other side of the lid untill the hinge
slots into its position.

8. Secure the lid frame to its position by 
fastening the four screws M6x8 on
all four corners.

7. Push the lid beyond the opening
angle of 109 degrees to detach the
lid from the frame. 

6. Place the casing cover and tighten 
the screws to secure it.

5. Complete the internal wiring to the
GST18 connectors.

4. Remove the gland cover to install
electrical wiring and data cables
accordingly. Place back the gland
cover once installation is done.

Fit in the two screws M4x30 with the 
two washer M4 at each side to tighten
the casing to the bracket.

3.2. Place the casing into the pre cut as
per the floor plan. Ensure the casing
sits on the bracket.

Install both bracket and tighten the
screw from the top at each side.
Ensure the bracket sits firmly to the
raised floor.

1.

Part List
Lid with frame x 1
Casing x 1
Bracket x 2
Screw M4x30  x 2
Washer M4 x 2
Screw M6x8  x 4

Installation Guide    

Floor Box RP/RPD
A. & H. Meyer Sdn Bhd (528797-M)

No. 3, Jalan Astaka U8/84
Section U8, Bukit Jelutong
40150 Shah Alam, Selangor
Malaysia

T: +60 3 7845 7277
W: www.ah-meyer.com.my
E: sales@ah-meyer.com.my



Floor Box RP/RPD

Raised Floor Dimensions

Lid Insert

Flooring material thickness
7mm

261.5mm

192mm

Raised Floor Cut Out

Cut Out Dimensions

23mm - 40mm
Raised floor panel thickness (internal)

23mm - 40mm
Raised floor panel thickness (internal)

M
in

in
um

 o
f 
cl

ea
ra

nc
e

M
in

in
um

 o
f 
cl

ea
ra

nc
e

Concrete Floor

Concrete Floor

282mm

238mm

112mm

112mm

Floor Box RP

Floor Box RPD


